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Which of the following is an irrational number? What is the rational number equivalent to 2.50? <
3
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Which of the following is equivalent to NlH,o

a. 27! c. 2!
b. 27 d 2°

4
There are ?J 97 bacteria in the petri dish. What is the total number of

bacteria are in the petri dish?
a. 919 c. 97
b 920 d 918




VI_pre-alg_01_08_examples_notes.gwb - 5/16 - Mon May 09 2016 14:54:06 VI_pre-alg_01_08_examples_notes.gwb - 6/16 - Mon May 09 2016 14:54:57

red by red by
ExamVi m@ ExamVi m@

£
o
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3 3 -2 4 7

Simplify qq% What is the simplified expression for *g
a. 7 c. 7% . 4 . 4
b 73 a 77 3 CS
4 5t
b. e d. rg
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What calculation could be used to find Rm =243

243

a. #.H% c. ¥
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Which of the following is an irrational number?

a A4
b. 16

a0
ﬁﬁ
wh | ©

www.mrtownsend.com

Vi_pre-alg_01_08_examples_notes.gwb - 11/16 - Mon May 09 2016 14:59:32

powered by
mxw:..s.mm..w

Which of the following shows the location -/16 accurately on a number line?
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Which value is not in scientific notation?
a 79.8x1072 c. 8.88x1074
b, 7.76x 1072 d 8.09x10™
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Q
What is the sum of 2.7x 107 and 3.7x 1072 Multiply T.h x SJ . T.w X EJ. Express your answer in scientific notation. .m
Q
(2]
14 14 s
. 0.64x10 . 6.4x10
: 7 ) . a 2.88x1030 c. 2.88x1013 2
b. 2.88x10 d. 2.88x10 w
s
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The distance of star Marvin from its Sun is approximately 7.9 x 109 kilometers,

and the distance of star Volky from the same Sun is 1.4 x 1019 kilometers.
About how many more kilometers is the distance of Volky from the Sun than the
distance of Marvin from the Sun?

a. 6.1x1010 kilometers ¢. 6.1x10? kilometers
b, 6.5x 102 kilometers d 6.5x%1010 kilometers

A closed container has 1.07x 10%° atoms of a gas. Each atom of the gas weighs

1.28 x 1073% grams. Which of the following shows and explains the approximate
total mass, in grams, of all the atoms of the gas in the container?

a. 0.14 grams, because (1.07# 1.28) e T%w . :13 =1.3696¢ 107!

)=
0)=2
)

b. 0.24 grams, because (1.07+1.28) ¢ (1027 1073°| =235 107!

c. 2.35 grams, because (1.07+1.28) » m
H 9910730} =1.3696

d. 1.37 grams, because (1.07 ¢ 1.28)






